DPP

DAILY PRACTICE PROBLEMS

CLASS : XIIth SUBJECT : MATHS
DATE : SOLUTIONS DPP NO. :1

Topic :-INVERSE TRIGONOMETRICE FUNCTIONS

1 (a)
We have,
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3 (b)
Given that, x2 + y* + z2 =71
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Now, tan* (2) + tan~! (22) + tan? (=)
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4 (b)
Put x = sin 6, we get

f(x) = sin! [sin (9 — g)}

For, —3<x<1
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is in the fourth on the first quadrant

=0 T[_ so—1 T
f(x)= —g = sinTx—z
5 (o)
1 1
cos™! (E) + 2 sin™? (E)
T Zn_n TL’_ZT[
=3teg=37t373
6 (o)
Given, tan"120 + tan~130 = E
. _1( 20+ 36 )—t 1y
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7 (b)

Let © = cos™! ( - %)

= cosG=—%=— cos(g)

= cos (rr — g) = cos (Z?n)
2

T
:9=2nn-_l-?
_47‘[ 8 10m 14w
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8 (o)

tan 0 + tan(g+6) + tan(—g+9) =aqatan30

\B+ tan 0 tane—\ﬁ
1—\Btan9+1+ﬁtan9
8tanB
=>tan0 + ——— =atan 30

1—3tan?0
- 3(3tan® — tan30)
1—3tan?0
=3 tan 30 = atan 30
=>a=3

=tan0 + = atan 30

=atan 30
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Let cot_lz =0=>cotb =

. 1 _ 4
And sm9—m \/1+(E) 3
13 5
. cot™ —+ sin” " —= = sin™ + sin”  —
= sin~ 1— 16]
54 269 J 25
) 4 12
=sin” |z 13'*13 5]
= sin! [w = sin_1§
65 65
10 (d)

Now, cos~!( cos4) = cos '{cos(2m —4)} = 2w — 4
=21 — 4> 3x* — 4x
=3x*—4x— (2r—4) <0

2 —\/6mr—8 2 +./6m—8
:#<x<#

11 (c)
Lettan™'x = 6. Then, x = tan 6
Also,

xX€E(—oo, —1)
T T
S>—w<x<l>—w< tanld <—-1=——=-<0<——

2 4

Now,

2% -1 -1
tan (1 —xz) = tan"!(tan26) = tan~!(tan(m + 26))
=420 [+ o <O<—Ts0<m+20<7]

2 4 2

=m+2tan"1x
12 (b)
Let sin ' x = 6. Then, x = sin 6 and /1 — x? = cos 6
Also,

<x<l=>— L < sinf@ <1:E 9<E
ZEETRS 15953

in~! (2x«/1 - xz)
= sin~!(sin26)

= sin~! (sin(m — 26))
- 29[~”<9<”:0< 20<2
- Tg=USTUSTTANS,
=m—2sin"lx
14 (a)

T

. n -1
Since, —5; <sin" x <-

N
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Thus, X2°, x; = 20
15 (a)
1 rad>45°
=tan1°> tan45°=tanl1>1
Also, tan™11 = % <1

Hence, tan1 > tan11

16 (c)
a+p=sin"l—+ cos_l\—B + sin7l1=+ cos_11
2 2 3 3
T T
AR

i .11 T 1
Also, @ =3 + sin §<§+sm

N | =

As sin 0 is increasing in [0, g]

A s A
“<3%5=2
Vs
=>B>E>a'
= a<f
17 (d)

tan

1 _1( 2a )+1 _1(1—a2)
—Sin — COS
2 1+a% 2 1+a®

=t [1 2tan! +12t ‘1]
—an2 an -~ a > an -~ a

=tan (2tan"'q)

tan_l( 2a )]
1—a?

=tan
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2a

2

1 a
19 (c)
Let S, =cot™ 12+ cot ™18 + cot™ 118 + cot™ 132 + ...
= T,cot™12n?
1
= tan"'—;
2n?
_1(2) _1((2n+1)—(2n—1))
= tan™ (—| = tan
4n 1+(@2n+1)(2n—-1)
WSy = Z {tan!(2n+ 1) — tan~!(2n — 1)}
n=1
= tan ‘oo — tan"11
m m T
T2 4 4
20 (a)
Given, tan! (¢) + tan~! (5) =Z
X X 2
A
= tan | XX | ==
L)
2
X
(a+ b)x
x?>—ab
= tan >
(a+b)x 1
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ANSWER-KEY
Q. 1 2 3 4 5 6 7 8 9 10
A. A B B B C C B C A D
Q 11 12 13 14 15 16 17 18 19 20
A C B C A A C D C C A
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